Q GeoVision:

The Vision of Security

GV-R Series IP Camera Mount

Installation Guide

e GV-Mount108
e GV-Mount111
* GV-Mount210-2
* GV-Mount213-1
* GV-Mount215-1
e GV-Mount311
e GV-Mount460
* GV-Mount504-1
* GV-Mount505

Before attempting to connect or operate this product,
please read these instructions carefully and save this manual for future use. RSERIES-MI-B



Q GeoUision:

© 2024 GeoVision, Inc. All rights reserved.
Under the copyright laws, this manual may not be copied, in whole or in part,
without the written consent of GeoVision.

Every effort has been made to ensure that the information in this manual is
accurate. GeoVision, Inc. makes no expressed or implied warranty of any kind
and assumes no responsibility for errors or omissions. No liability is assumed
for incidental or consequential damages arising from the use of the information
or products contained herein. Features and specifications are subject to
change without notice.

GeoVision, Inc.

9F, No. 246, Sec. 1, Neihu Rd.,
Neihu District, Taipei, Taiwan
Tel: +886-2-8797-8377

Fax: +886-2-8797-8335
http://www.geovision.com.tw

Trademarks used in this manual: GeoVision, the GeoVision logo and GV
series products are trademarks of GeoVision, Inc. Windows is the registered
trademark of Microsoft Corporation.

October 2024

Scan the following QR codes for product warranty and technical support
policy:

[Warranty] [Technical Support Policy]


http://www.geovision.com.tw/

Contents

e (=] = T SRR
1. Pendant Mounting with GV-MouUNtL1O08...........coooiiiiiiiiii
2. Pendant Mounting with GV-MouUNtLI1L .........ccooiriiiiiiiiii e e
3. Wall Pendant Mounting with GV-MouUNt210-2..........cccooeieeiiiiiiiiiiieee e
4. Wall Box Mounting With GV-MoUNE213-1 ..........coiiiiiiiiiiiiiiii e e eeeeans 11
5. Wall Bracket Mounting with GV-Mount215-1 ... 14
6. Corner Mounting With GV-MoOUN311........cccooiiiiiiiiiiiiiiiiiiiieeeeeeeeeeeeeeeeeeeeeeeeee 18
6.1 GV-Mount311 Installation for GV-RFERL12700............coiiiieiiiiiiiiiieee e 20
6.2 GV-Mount311 Installation for GV-RMS32810...........cccuuviiiiiiiiiiiiiiiiiiiiieeiieieeeeeeeeeeeee 22
7. Pole Mounting With GV-MOUNEAB0 .........cccoeeiiiiiiiiiieee e 24
8. Wall Bracket Mounting with GV-Mount504-1 .........cccooeiiiiiiiiiiiiiie e 27
8.1 GV-Mount108 + GV-Mount504-1 Installation .............ccooeiieeiiiiiiiiiiee e 29
8.2 GV-Mount210-2 + GV-Mount504-1 Installation ...........cccoeeeeiiiieiiiiiiiie e 32
9. Wall Box Mounting with GV-MouUNtS05 ..........cccoviiiiiiiiiiiiiiiieeeeeeeeeeeeeeeeeeeee 34



Welcome to the GV-R Series IP Camera Mount Installation Guide.

Preface

This Installation Guide is designed for the following models:

Q GeoUision

oul

Model Model Number
IR Bullet IP Camera GV-RBL5800
GV-RBL5802
GV-RBL5811
IR Mini Fixed Rugged IP Dome | GV-RDR5800
IR Eyeball IP Dome GV-REB5800
GV-REB5801

IR Fisheye IP Camera

GV-RFER12700

Multi-Sensor IR IP Dome

GV-RMS32810




Q GeoUision:

1. Pendant Mounting with GV-Mount108

Packing List

1. GV-Mountl08 2. Expansion bolt x 4

3. Allen wrench x 1

Applicable Models
* GV-RFER12700

Note: GV-Mount108 must be used with GV-Mount504-1.




Q GeoUision:

Dimensions

T =
|+ >

(11.5")

S — s a— i i e i et i e’ i H__
| |
294.0MM 0
(0.78")

3-M4

14 11 11 13

GV-Mount108 + GV-Mount504-1 Installation
See 8.1 GV-Mount108 + GV-Mount504-1 Installation below for details.



Q GeoUision:

2. Pendant Mounting with GV-Mount111

®
Packing List
1. GV-Mountlll 2. Expansion bolt x 4
3.  Hexagon screws x 3 4. Hexagon socket head cap screw x 2
5. Hexagon wrench

Applicable Models:
e GV-RMS32810



Q GeoUision:

Dimensions

GV-Mount111 Installation
1. Install the camera and the adapter base.



Q GeoUision:

2. Drill four screw holes on the wall where installation is needed, and hammer in four
expansion screws into the holes. Then thread the main cable connector out from the
center of the mounting bracket, align the mounting bracket base with the four screw

holes on the wall, and tighten the screws.

L]

3. After connecting the main cable connector with the camera tail cable, place them into the
base, then insert the bottom cover connector of the wire hiding box into the bracket

interface and lock it with the side screw.




Q GeoUision:

4. If adjustment of each lens angle is needed, loosen the screws on the camera transparent
cover, remove the cover, adjust as needed, then align the cover with the screw holes and
tighten the screws.

5. Lock the transparent cover of the dome camera onto the camera base.

GV-Mount11l Installation Requirements

When the dome camera RMS32810 is installed to the ceiling using Mount111, in order to
avoid reflections, which may occur when Image Control is set to Full Color Mode, or when it is

set to Day/Night Mode and it is at night, ensure that the following requirements are met:

(A) If the camera is installed in the center of the room (as opposed to being close to the

wall):

e Thetilt angle of all 4 camera lenses must be less than 70 degrees.
(Note: O degrees is when the lens is facing outwards and parallel to the ceiling.)

This is to avoid direct reflections from nearby light sources.

ceiling

70°>Angle>0° 70°>Angle>0°



Q GeoUision:

(B) If the camera is installed close to the wall (as opposed to being in the center of the

room):

1. To avoid reflected glare by IR LED:

(@) The space between the camera body and the wall has to be equal to or
wider than 1 meter.

(b) The lenses cannot face the wall.
It is recommended that the pan angle of the 2 camera lenses that are closer to
the wall be adjusted outwards so that the lenses are farther away from the wall,
as shown as the red arrow in the figure below.
Users can also adjust the tilt angle of these 2 camera lenses until the lenses are
facing downwards (parallel to the wall); however, note that with this method,

there may be direct reflections from nearby light sources.

2. To avoid direct reflections from nearby light sources:
e The tilt angle of all 4 camera lenses must be less than 70 degrees.

(Note: 0 degrees is when the lens is facing outwards and parallel to the ceiling.)

ceiling

—T—7F

3

wall

The space has to be equal

to or wider than 1 m 70°>Angle>0°

Adjust the camera lens so
that it is parallel to the wall | =




Q GeoUision

3. Wall Pendant Mounting with GV-Mount210-2

=}
a

Packing List

1. GV-Mount210-2 2. Expansion bolt x 4

3. Short screw (10 mm) x 1 4. Long screw (35 mm) x 4
5. Colloidal particle x 4

Applicable Models

GV-RFER12700

Note: GV-Mount210-2 must be used with GV-Mount504-1.




Q GeoUision:

Dimensions
2-M4
€|
/fO | — O egz
- ] 2
] [ g
] ltelztri]
\O \O/
A
168mm (6.5")

GV-Mount210-2 + GV-Mount504-1 Installation
See 8.2 GV-Mount210-2 + GV-Mount504-1 Installation below for details.

10



Q GeoUision:

4. Wall Box Mounting with GV-Mount213-1

/
Packing List
1. GV-Mount213-1 2. Basexl1
3. Allenwrench x 1 4. Socket screw (14 mm) x 3
5. Colloidal particle x 4 6. Long screw (35 mm) x4
7. Screw waterproofing ring x 4 8. Waterproof joint rubber ring x 1
9. Waterproof connector x 1 10. Drill Template Paster

Applicable Models:

GV-RFER12700

11



Q GeoUision:

Dimensions

GV-Mount213-1 Installation
1. Place the template paster on the wall surface where installation is needed. Drill four

self-tapping screw holes, and hammer four colloidal particles into the drilled wall holes.
Align the four screw holes of GV-Mount213-1 base with the wall screw holes and tighten

them with self-tapping screws.

//

<

f;_:____ R
i

12



Q GeoUision:

2. Align the adapter board of the fisheye camera with the screw holes on the bottom cover
of GV-Mount213-2, and tighten three screws.

%///////
e

3. Thread the network cable through the waterproof connector and pull it out from the
central hole of the adapter board. Connect the tail cable of the fisheye camera and the
network cable, place them in GV-Mount213-1, and align the fisheye camera with the
buckle on the adapter board. Rotate it clockwise until the buckle is completely in place.

4. After installation, tighten the waterproof connector, and the installation is complete.

13



Q GeoUision:

5. Wall Bracket Mounting with GV-Mount215-1

@
Packing List
1. GV-Mount215-1 2.  Short screw (10 mm) x 3
3. Allenwrench x 1 4. Long screw (25 mm) x 4
5. Colloidal particle x 4 6. Drill Template Paster

Applicable Models:
* GV-RDR5800
*  GV-REB5800
* GV-REB5801

14



Q GeoUision:

Dimensions

)
)

[ Zlww 052

1
[ 132.0mm[5.27]

GV-Mount215-1 Installation
1. Drill holes according to the drill template paster on the wall and insert the colloidal

particles.

=

15



Q GeoUision:

2. Secure the bottom plate of GV-Mount215-1 on the wall using the supplied screws.

3.

16



Q GeoUision:

4. Thread the camera’s cables inside GV-Mount215-1 and mount the whole camera onto
GV-Mount215-1.

5. Connect the cables from the side hole of GV-Mount215 and tighten the bottom screw to
complete the installation.

17



Q GeoUision

oul

6. Corner Mounting with GV-Mount311

Packing List

J )
b}

PR ]

2 d g

» s @
]

»
2

b4 »
P

s

3 »

3

s »

2 3

J) ?

1.

GV-Mount311

Colloidal particle x 8

Long screw (35 mm) x 8

Socket screw (M6 x 16 mm) x 4

Spring washer (M6) x 4

Conical spring washer (M6) x 4

Socket screw (M4 x 16 mm) x 4

© oA~

Spring washer (M4) x 4

© N w

Conical spring washer (M6) x 4

Applicable Models:

GV-RFER12700
GV-RMS32810

Note: For GV-RFER12700, GV-Mount311 must be used with GV-Mount213-1.

18




Dimensions

172.8 mm (6.87)

Q GeoUision:

( o Q
[e] e}
L] ] o
o0 o QO
o o
y 8] o O
=]
| Q o
o o
g O )
o \ / ]
o
oo O
o o
[e] o]
@ @ (o] o] @
o o}
271.4 mm (10.68")
|
E
g
130 mm (5.11")

19



Q GeoUision:

6.1 GV-Mount311 Installation for GV-RFER12700

Refer to the installation method mentioned above, drill four holes on each side of the wall
at the wall corners, hammer four colloidal particles into the drilled wall holes, and then
align the GV-Mount311 (port #2 as indicated below) with the wall screw holes and tighten

it with self-tapping screws.

Align the screw holes of GV-Mount213-1 base with the bracket screw holes, tighten the

2.
screws, and then install the adapter board onto GV-Mount213-1.

20



Q GeoUision:

3. See Step 3 ~ 4 in 4 Wall Box Mounting with GV-Mount213-1 for the subsequent
installation steps.

21



Q GeoUision:

6.2 GV-Mount311 Installation for GV-RMS32810

1. Use 8 plastic anchors and self-tapping screws to install the bracket onto the

corresponding wall corner.

2. Thread the main cable connector out from the center of the wall corner bracket and
wall-mounted bracket, align the base of the wall-mounted bracket with the four screw

holes of the wall corner bracket, and tighten the screws.

22



Q GeoUision:

3.  After connecting the main cable connector with the camera tail cable, place them into the
base, then insert the camera bottom cover connector into the interface of the

wall-mounted bracket and lock it with the side screw.

4. If adjustment of each lens angle is needed, loosen the screws on the camera transparent
cover, remove the cover, adjust as needed, then align the cover with the screw holes and

tighten the screws.
5. Lock the transparent cover of the dome camera onto the camera base.

23



Q GeoUision:

7. Pole Mounting with GV-Mount460

fﬂ'\ﬁm\\_

)
J )

o

U )] D)

)

/]

)

T
Packing List
1. GV-Mount460 2. Stainless steel clamp x 2
3. M6 socket screw (16 mm) x 4 4. M4 socket screw (16 mm) x 4
5. M6 spring washer x 4 6. M6 conical spring washer x 4
7. M4 spring washer x 4 8. M4 conical spring washer x 4

Applicable Models:

* GV-RMS32810

24




Dimensions

200mm [7.87"]

125mm [4.92"}

46mm
AN [1.81"]

GV-Mount460 Installation

Q GeoUision

1. Use two clamps to install the pole mount bracket onto the corresponding pole.

25

oul



Q GeoUision:

2. Thread the main cable connector out from the center of the pole-mounted bracket
and wall mount bracket, align the base of the wall mount bracket with the four

screw holes of the pole-mounted bracket, and tighten the screws.

>

3. After connecting the main cable connector with the camera tail cable, place them
into the base, then insert the camera bottom cover connector into the interface of

the wall mount bracket and lock it with the side screw.

4. If adjustment of each lens angle is needed, loosen the screws on the camera
transparent cover, remove the cover, adjust as needed, then align the cover with the

screw holes and tighten the screws.

5. Lockthe transparent cover of the dome camera onto the camera base.

26



Q GeoUision:

8. Wall Bracket Mounting with GV-Mount504-1

Packing List
1. GV-Mount504-1 2. Basexl1
3. Allenwrench x 1 4. Socket screw (14 mm) x 3

Applicable Models:
* GV-RFER12700

Note: GV-Mount504-1 must be used with GV-Mount108 or GV-Mount210-2.

27



Q GeoUision:

Dimensions

o 13. Tom
[0.571
6. 9nm

‘T r 10.37

©126.0MM (4.96")
O——.

62.0MM
(2.44")

28



Q GeoUision:

8.1 GV-Mount108 + GV-Mount504-1 Installation

1. Install the fisheye camera adapter board onto the concealed wiring box.

2. Thread the tail cable of the fisheye camera through the central hole of GV-Mount504-1
base. Rotate the camera clockwise to ensure that the latch on the bottom of the camera
and the latch on the adapter board are fully engaged.

29



Q GeoUision:

3.  Dirill four screw holes on the wall where installation is needed. Hammer four expansion
screws into the drilled wall holes. Then, thread the main cable connector out from the
center of the suspension rod. Align the suspension rod base with the four wall screw

holes and tighten with screws.

30



Q GeoUision:

4. After connecting the main cable connector and fisheye camera tail cable, place them into
the concealed wiring box. Then, insert the concealed wiring box bottom cover connector
into the suspension rod interface and tighten the side machine screws. This completes
the installation.

'_.-—-—‘@"..

31



Q GeoUision:

8.2 GV-Mount210-2 + GV-Mount504-1 Installation

1. Install the fisheye camera adapter board onto the concealed wiring box. Thread the talil
cable of the fisheye camera through the central hole of the concealed wiring box. Rotate

the camera clockwise to ensure that the latch on the bottom of the camera and the latch

on the adapter board are fully engaged (as shown in Figure 1).

32



Q GeoUision:

. Drill four screw holes on the wall where installation is needed. Hammer four expansion

screws into the drilled wall holes. Then, thread the main cable connector out from the
center of the bracket. Align the bracket base with the four wall screw holes and tighten
with screws (as shown in Figure 2). If you are using self-tapping screws for installation,

you need to first hammer four adhesive particles into the screw holes and then tighten

the bracket with self-tapping screws.

. After connecting the main cable connector and fisheye camera tail cable, place them into
the concealed wiring box. Then, insert the concealed wiring box bottom cover connector

into the bracket interface and tighten the machine screws on both sides. This completes

the installation (as shown in Figure 3).

33



Q GeoUision:

9. Wall Box Mounting with GV-Mount505

Packing List

1. GV-Mount505 2. Short screw (8 mm) x 3

3. Long screw (35 mm) x 3 4. Colloidal particle x 3

5. Allenwrench x 1 6. Screw waterproofing ring x 3
7. Waterproof joint rubber ring x 1 8. Waterproof connector x 1

9. Dirill template paster 10. Installation instruction

Applicable Models:

GV-RBL5800
GV-RBL5802
GV-RBL5811
GV-REBS5800
GV-REB5801

34




Q GeoUision:

Dimensions

@100.45 [3.955] 1 ]

56 (2.205")

GV-Mount505 Installation
1. Drill holes according to the drill template paster on the wall and insert the colloidal
particles.

35



Q GeoUision:

2. Secure the bottom of GV-Mount505 on the wall using the supplied screws.

—

A_/._:: /’

___/

3. Thread the necessary cables from the bottom hole of GV-Mount505.

36



Q GeoUision:

4. Connect the camera’s cables inside GV-Mount505 and fix the camera onto the upper
part of GV-Mount505 using the supplied screws.

5. Assemble GV-Mount505 to complete the installation.

37



	Contents
	Preface
	1. Pendant Mounting with GV-Mount108
	2. Pendant Mounting with GV-Mount111
	3. Wall Pendant Mounting with GV-Mount210-2
	4. Wall Box Mounting with GV-Mount213-1
	5. Wall Bracket Mounting with GV-Mount215-1
	6. Corner Mounting with GV-Mount311
	6.1 GV-Mount311 Installation for GV-RFER12700
	6.2 GV-Mount311 Installation for GV-RMS32810

	7. Pole Mounting with GV-Mount460
	8. Wall Bracket Mounting with GV-Mount504-1
	8.1 GV-Mount108 + GV-Mount504-1 Installation
	8.2 GV-Mount210-2 + GV-Mount504-1 Installation

	9. Wall Box Mounting with GV-Mount505



